EREFEIIFEIEOREICEICERAZHIRT ARE —BEX

R | BRE £ e BB simeniee| s
<E> =L 2.311 km

= 3 i%ﬂég%ﬁﬁ?ﬁﬁ*— Egiﬁﬁﬁﬁ?ﬁﬁx—ﬂt 0,055 R7.4.4
= 3 EE%/_\gﬁigﬁfiﬁ%ﬁﬁ @g?ﬁ%ﬁﬁ?ﬁ/@-ii 0,097 R7.4.4
= 3 Eg}ﬁéﬁég:ggz{?%ﬁﬁ gH:T§$¥E1J€$E5¥'I—:/\ 0.186 R7.4.4
- NETEBFR/FLLE AHEEFIEBE/NE | o pras
Esbc 3 gﬁmﬁ@ij—g:gmﬂ 0064|  R744
=g mg&ﬁﬁiﬂéﬁﬁﬁﬁ%ﬁ@ﬁﬁﬁgﬁ?ﬁ%ﬁ?ﬁﬂ 0.219 R744
EiE 35 fﬂﬁﬁfﬁgﬁ%gf%{ﬁm?% gi%ggi?j&ﬁ:ﬂzﬁﬂa 0849|  R7.44
EE B|EEHRTEHEAAAEZ— |AHEHITE—tEZ 0.02 R7.4.4
g 208 Eg!i%ﬁ]ﬁ%ﬁ?ﬁ%']‘ﬁﬁ gTﬁ*ﬂﬁT%ﬁiﬁﬁEﬂﬂﬁ— 0.286 R74.4
=i 208 @%gf*ﬂﬁﬁﬁ??%m—i gg?*amiﬁiﬁiﬁzm—z: 0.13 R7.4.4
= 2105%(&?!?%#&&%?%&5— gﬁ%#ﬁ%ﬁfﬁ?tiﬁ/\:: 0.377 R7.4.4

OO0—%&Z




	Sheet1

